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Basic and non‐irrigation equations and conversions are assumed to be known by candidates. All 
citations refer to Landscape Irrigation Contractor Workbook, Irrigation Association. Feb. 2014. 
The equations are presented in the latest IA format and may appear different from those 
presented in the reference material. 
 

1 cubic foot of water = 7.48 gallons            1 acre‐inch = 27,154 gallons                1 acre‐foot = 325,848 gallons 
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Left blank intentionally. 
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V I R ×  Eq. 5‐1a  Left blank intentionally   
Left blank intentionally   W V I × Eq. 5‐4 
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Eq. 5‐5 
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Eq. 6‐1 
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Eq. 6‐3 
  L T d mcK K K K × ×  Eq. 6‐4a 

L P d mcK K K K × ×  Eq. 6‐4b 
 

Left blank intentionally 
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Eq. 7‐2 
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Eq. 7‐7 
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 Eq. 7‐10 

net rd AW Z p × ×  Eq. 7‐10  max rd AW Z MAD × ×  Eq. 7‐11
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Eq. 7‐13
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Eq. 7‐14  Cost
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